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Year 2 Block 6 Unit: Length .and height
Key Viocabulary:
length long shorkt height tall measuwre | ruler
centimetre (cm) | metre (m) compare order
What will I know by the end .of this unit?

Measwre in centimetres: Measure in .metres:
i i ?
Hﬂwlﬂngj@m 1o What is the height of the door?
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The start is lined up with O cm.
The end is lined up with 8 cm.
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Compare lengths .and heights: Order lengths .and heights:
'I" Order the trees from tallest
mglllp= to shortest. c 8cm

The bus is 5 .m long.

&

The car is 3 .m long.

longer or shorter
The car is shorter than the hus.
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The J is { ¢ Tree C Tree A Tree B
tallest shortest
Fowr .operations with length .and heights:
seom " &) This mall of hlocks is 12 cm long.
5 em H much taller is the
.OMW As
p"‘ 5cm tallest block than the ‘ ‘ ' ‘ ‘ ’
shortest hlock?
| 12 cm
S5em  /cm =——7-3=4
What is the length of each block?
R 7 cm There ore 6 hlocks. 4
3x5=15 317+5=15
Ronls tower is 15 cm. Max’s tower is |15 cm. ,2 = 6 =2
Who has huilt the taller tower? Each block is 2em long.

Both towers are the same height.




